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§5.10 Io;_�o�IF>MJG -�T4�()
o!Io!%�&65!P=��?Bx�()
o!_�o; +(+�.�;Io,dJ���65&6�:l f(x), g(x) ∈ K[x], �[1�+ f(x), g(x) * C k"6�:!�0��}Dp (f(x), g(x)) = d(x) 6= 1.LB l (f(x), g(x)) = d(x), + d(x) 6= 1 !�0��}Dp�*/V)
o
u(x), v(x) ∈ K[x] n f(x)u(x) = g(x)v(x), b degu(x) < degg(x), degv(x) <

degf(x).NE ����l d(x) 6= 1 W f(x) = d(x)v(x), g(x) = d(x)u(x), + f(x)u(x) =

d(x)v(x)u(x) = g(x)v(x) b degu(x) < degg(x), degv(x) < degf(x).�0��i (f(x), g(x)) = 1, �� f(x)|g(x)v(x), y� f(x)|v(x). � degf(x) >

degv(x) > 0, Y(� 2.+� f(x) & g(x) !Iol f(x) = a0x
n + a1x

n−1 + · · · + an, g(x) = b0x
m + b1x

m−1 + · · · + bm, u(x) =

x0x
m−1+x1x

m−2+· · ·+xm−1, v(x) = y0x
n−1+y1x

n−2+· · ·+yn−1,`6 x0, · · · , xm−1,

y0, · · · , yn−1 ��%�s��h f(x)u(x) = g(x)v(x), �G�s 
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

a0x0 = b0y0

a1x0 + a0x1 = b1y0 + b0y1

a2x0 + a1x1 + a0x2 = b2y0 + b1y1 + b0y2

· · ·
anxm−3 + an−1xn−2 + an−2xn−1 = bmyn−3 + bm−1yn−2 + bm−1yn−2 + bm−2yn−1

anxm−2 + an−1xm−1 = bmyn−2 + bm−1yn−1

anxm−1 = bmyn−1q� m+n 4�1s x0, x1, · · · , xm−1, y0, y1, · · · , yn−1 !a���.�;�1`�sK/!95K/��
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a0 a1 a2 · · · · · · an 0 · · · 0
0 a0 a1 · · · · · · an−1 an · · · 0
0 0 a0 · · · · · · an−2 an−1 · · · 0
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 0 · · · · · · a0 · · · · · · · · · an

−b0 −b1 −b2 · · · · · · · · · 0 · · · 0
0 −b0 −b1 · · · · · · · · · · · · · · · · · ·
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 0 0 · · · −b0 −b1 · · · · · · −bm
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?K l f(x) = a0x
n + a1xn−1 + · · ·+ an, g(x) = b0x

m + b1xm−1 + · · ·+ bm,%��U m + n H�Uo�
R(f, g) =
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∣
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∣

∣

∣

∣

∣

a0 a1 a2 · · · · · · an 0 · · · 0
0 a0 a1 · · · · · · an−1 an · · · 0
0 0 a0 · · · · · · an−2 an−1 · · · 0
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 0 · · · · · · a0 · · · · · · · · · an

b0 b1 b2 · · · · · · · · · 0 · · · 0
0 b0 b1 · · · · · · · · · · · · · · · · · ·
· · · · · · · · · · · · · · · · · · · · · · · · · · ·
0 0 0 · · · b0 b1 · · · · · · bm
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∣

∣�� f & g !Io�?B l f(x), g(x) ∈ K[x], + f(x), g(x) * C k"675!�0��}Dp
R(f, g) = 0.HD l f(x), g(x) ∈ K[x], + (f(x), g(x)) = 1 !�0��}Dp R(f, g) 6= 0.?B l f(x) = a0x

n + a1x
n−1 + · · ·+ an,g(x) = b0x

m + b1x
m−1 + · · ·+ bm, f(x)!5� x1, x2, · · · , xn, g(x) !5� y1, · · · , yn, + R(f, g) = am

0 bn
0

∏m

i=1

∏m

j=1(xj − yi).NE W f(x) = a0f1(x), g(x) = b0g1(x), + f(x) & f1(x) "�~5� g(x) &
g1(x) "�~5�!Io%�O1

R(f, g) = am
0 bn

0R(f1, g1).4�NX f, g�r
�s� 1AO�! Vieta%S1 −a1, a2, · · · , (−1)nanp x1, x2, · · ·,
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xn !�"'�)
o�−b1 , b2, · · · , (−1)mbm p y1, y2, · · · , ym !�"'�)
o��� R(f, g) p9% x1, x2, · · · , xn; y1, y2, · · · , ym !)
o�b'% x1, · · · , xn p'�)
o�'% y1, y2, · · · , ym �p'�)
o�$�� f(x) = (x−x1)(x−x2) · · · (x−

xn), g(x) = (x − y1)(x − y2) · · · (x − ym), � x1 = y1 m� f(x) & g(x) "675�A R(f, g) = 0, iE R(f, g) q� x1 !)
o�+ x1 − y1 p R(f, g) !�o�~S� xj − y1 p R(f, g) !�o�~S xj − yi, 1 ≤ j ≤ n, 1 ≤ i ≤ m &p R(f, g) !�o�q�)()
o�.� xj − yi TT<w����
R(f, g) = h(x1, x2, · · · , xn, y1, · · · , ym)

n
∏

j=1

m
∏

i=1

(xj − yi). (1)�\0℄ h(x1, · · · , xn, y1, · · · , ym) = 1.E (1) oTo
� x1 !)
o�! R(f, g) !%��z�p9% x1 ! m �)
o��* h p9% x1 ! 0 �)
o�~m x2, · · · , xn, y1, · · · , ym * h 6M�V��A h p�s c, 8
R(f, g) = c

n
∏

j=1

m
∏

i=1

(xj − yi), (2)�s& xj , yi �9���& f, g !L|�o�9�e g(x) = xm, A g(x) !5
yi = 0(1 ≤ i ≤ m), + (2) o#�� cxm

1 xm
2 · · ·xm

n . !%� R(f, g),

(−1)(m+1)+···+(m+n)+1+···+n = (−1)mn(−1)n,y� c = 1. 2O R(f, g) = am
0

∏n

j=1 g(xj) = (−1)mnbm
0

∏m

j=1 f(yj).j�)
o!_�o�?K l f(x) = a0x
n + a1x

n−1 + · · ·+ an !_�o�
△(f) = (−1)

1

2
n(n−1)a−1

0 R(f, f ′).?B )
o f(x) = a0x
n + a1x

n−1 + · · ·+ an !_�o�"%
△(f) = a2n−2

0

∏

1≤j<i≤n

(xj − xi)
2.
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NE !k\0℄1
R(f, g) = am

0

n
∏

j=1

g(xj).W g(x) = f ′(x), degf(x) = n − 1, + R(f, f ′) = an−1
0

∏n

j=1 f ′(xj). $
f(x) = a0(x − x1)(x − x2) · · · (x − xn),

f ′(x) = a0[
n

∑

i=1

φ(x − x1) · · · (x − xi−1)(x − xi+1) · · · (x − xn)],

f ′(xj) = a0(xj − x1) · · · (xj − xj−1)(xj − xj+1) · · · (xj − xn),y�
R(f, f ′) = (−1)

1

2
n(n−1)a2n−1

0

∏

1≤j<i≤n

(xj − xi)
2.2 C 1 ax2 + bx + c !_�o�

a2(x1 − x2)
2 = a2[(x1 + x2)

2 − 4x1x2] = a2(
b2

a2
− 4

c

4
) = b2 − 4ac.HD f(x) "75!�0��}Dp △(f) = 0.u�dJ+(2�.�;dJ

{

f(x, y) = 0
g(x, y) = 0

(3)l f(x, y) = a0(y)xs + a1(y)xs−1 + · · · + as(y), g(x, y) = b0(y)xt + b1(y)xt−1 +

· · · + bt(y), b a0(y) 6= 0 6= b0(y). + f, g Oq x ��%(!Iop9% y !)
o�A
ϕ(y) := Rx(f, g) =
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∣

∣

∣

a0(y) a1(y) · · · as(y)
· · · · · ·

· · · · · ·
a0(y) · · · · · · as(y)

b0(y) b1(y) · · · · · · bt(y)
· · · · · ·

· · · · · ·
b1(y) bt(y)

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣
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i (α, β) p (3) !J�+ f(x, β), g(x, β) "675 α, 8 f(x, β), g(x, β) !Io� 0, A β p ϕ(y) !J�-2�i β p ϕ(y) !J�+ f(x, β), g(x, β) "675�.��d (3)J!�{�>�dJ ϕ(y) = 0. d� ϕ(y)!J β,�h {

f(x, β) = 0
g(x, β) = 0

,Od (3) !J�C 2 dJ.�
{

f(x, y) = x2y + 3xy + 2y + 3 = 0
g(x, y) = 2xy − 2x + 2y + 3 = 0

(4)A�f(x, y) = yx2 + (3y)x + (2y + 3),

g(x, y) = (2y − 2)x + (2y + 3).

Rx(f, g) =

∣

∣

∣

∣

∣

∣

y 3y 2y + 3
2y − 2 2y + 3 0

0 2y − 2 2y + 3

∣

∣

∣

∣

∣

∣

= 2y2 + 11y + 12.�C Rx(f, g) "5 β1 = −4, β2 = −3
2
.E β1 = −4 �h (4),

{

f(x,−4) = −4x2 − 12x − 5
g(x,−4) = −10x − 5d 675 α1 = −1

2
.E β2 = −3

2
�h (4)  

{

f(x,−3
2
) = −3

2
x2 − 9

2
x

g(x,−3
2
) = −5xd 67J α1 = 0.y�).�"T4J� {

α1 = −1
2

β1 = −4
� {

α2 = 0
β1 = −3

2

.O g:)%T4.�
Q�O
dT4.�!67J��h�0p1�.�!J�g:)%T4	(!2�.�;��Æ Rv.,84Æf�1s�=�� P226 2, 3, P227 5;
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��dJ.�; {

x2 + y2 − 3x − y = 0
x2 + 6xy − y2 − 7x − 11y + 12 = 0�<� P227 (�{ 5.10) 6; P228 15; 16; 17; 18.
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